EVIASCAN

HD Optima

User Manual



N EVIXSCAN

See it. Scaniit.

Version: 1.0
Release date: December 2020

Table of contents

L. INEFOQUCTION .ttt 3
2. Hardware asSSEMDIY ..........uuuiiii i 3
3. T CP SBINGS oo 5
N = To] o T Tor= VSTV o] o o] o (PSSP 7

evatronix



N EVIXSCAN

See it. Scaniit.

1. Introduction

This instruction shows how to simply install eviXscan 3D HD Optima scanner on Universal
Robots.

Power switch Power connector USB

a
)

Fig. 1 eviXscan 3D HD Optima scanner overview

2. Hardware assembly

The first step is to install part | of the fast fixing on the robot flange using 4 bolts M6x20 DIN 912
in the position as in Fig.2.

Fig. 3 Assembly of the scanner holder

evatronix



evatronix

N EVIXSCAN

See it. Scaniit.

Next prepare set of: fast fixing part I, extender and adapter plate using 4 bolts M6x16
DIN 912 and 4 bolts M6x12 DIN 7991 as in Fig. 3.

Fig. 4 Assembly of the HD Optima scanner on the holder

Put the holder (Fig. 3) on the scanner in the position as in Fig. 4 using 4 bolts M4x6 DIN 912.

Fig. 5 Assembly of the HD Optima scanner on the robot

The last step is to connect both part of fast fixing by push it together and secure using 2
screws M8x10 DIN 913 as in Fig. 5. Now scanner is successfully installed on UR robot.



designed by

evatronix

3. TCP settings

4

# EVIXSCAN

See it. Scaniit.

Tool Center Point offset, payload and the center of gravity settings are required to ensure
proper robot operations. Recommended TCP position is set on the projector lens as in Fig. 6.

85,1

v

o]

162

'

e

Fig. 6 Dimensions of TCP offset and recommended Z axis orientation

TCP —
[Z ] A v A [+ ] 1 +]
Mounting
1/0 Setup Position
Variables X 0.0 mm
3 Y 85.1 mm ®
tartup _
Smooth
Transition
Orientation
Conveyor _ .
Tracking Units  |[RPY[®] v| -
Screwdriving RX -90.0000
Tool I/O RY 90.0000
Home RZ 0.0000 [ A wizard |
Payload and Center of Gravity Tool Flange
> safety , :
» URCaps oY 0.0l mm
cz 162.0/ mm # Wizard

O Normal

5

Simulation .

Fig. 7 Recommended TCP settings on e-Series robot



R EVIXSCAN =30

See it. Scan it.

O File 17:43:589 CCCC 9
Program | Installation rane [’uo |/Lng |
TCP Configuration Tool Center Point
Mounting

Available TCPs:

Smooth Transition Rz 12092 rad

I/O Setup ‘ Tcp ‘v‘
a Safety X mm | Rename ‘
Variables ¥ mm | Set as default ‘
MODBUS - mm | New ‘
Features RX rad | Remove ‘
'IEE;!;IE RY rad | ? Position ‘
| |

? Orientation

Conveyor Tracking

Payload: 5.00| ki
EtherNet/IP s - g

Center of gravity

PROFINET

)
>

0
<
3
3

3
3

Default Program

Load/Save
cZ 162.0] mm

Fig. 8 Recommended TCP settings on CB-Series robot

designed by

@ 6

evatronix



N EVIXSCAN

See it. Scaniit.

4. Technical support

In case of problems, please contact our technical support:

Phone: +48 33 499 59 32

e-mail: support@evatronix.com

evatronix


mailto:support@evatronix.com?subject=eviXscan%203D%20Suite%20support

